TRIANGLE CONGRUENCE

IDENTIFYING TYPES AND PROOFS USING THEOREMS



Warm Up — Name the congruent sides and angles (draw a picture!), then solve for
the unknown.

1) AABC = ADEF 2) AGHI = JKL
m<A=28 Lot5x=1§0 GH = x+4
M<E=x+7 ZX = (e K] =3x+8

mM<C=4x-15 @ = 2x+10
IL=?

TS & o

xﬁl LY FY=5 =166
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Homework

1) x=5 y=1 2)x=-11 y=77  3)OMIT

4) x=1 vy=3 5)x=2 y=3 6) x=30 and y=20
m<x=40° m<y=90°

Part |l

a) ATCR b) ARTE c) AYTW




Side-Side-Side (SSS) Postulate

If the three sides of one triangle
are congruent to the three sides
of another triangle, then the two
triangles are congruent.

(“D AR AR
@ >
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MORE ON THE SSS POSTULATE

if AB = ED, AC = EF, & BC = DF, then AABC = AEDF.


Adam Bryant



SIDE-ANGLE-SIDE (SAS) POSTULATE

If @nd the included angle of one
triangteis congruent tatwo sides and the
included angle of another triangle, then
the two triangles are congruent.
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MORE ON THE SAS POSTULATE

If BC=YX, AC=ZX, & Z/C= /X, then AABC = AZXY.
B \'



(ASA) ANGLE-SIDE-
ANGLE CONGRUENCE

POSTULATE

IF TWO ANGLES AND THE INCLUDED
SIDE OF ONE TRIANGLE ARE

CONGRUENT TO TWO ANGLES AND
| THE INCLUDED SIDE OF A SECOND
TRIANGLE, THEN THE TRIANGLES ARE

CONGRUENT.




KAHOOT



Intro to Proofs

Given that 2H= £K, and H5=5K, how would

you prove these triangles are congruent?
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Example 1:

GIVEN: QR =UT, RS =TS, QS =US

PROVESAQRS = AUTS S
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Example 2:
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Example 3:

GIVEN: RS =RQAND ST =QT
PROVE: A QRT =A SRT.



